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. 36—>2-—>7-—>8-—>1-—>4-—>9-—>5-—>10> C1,C
A knot dlagranﬂ C2 Co cr c3 Cg Cs ~ Cio ’

Ideals for irreducible component#ﬂ)f Xpar

I = (W — w3 4 = 2u+ 1)

* 1 irreducible components of dim¢ = 0, with total 32 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u*?—ud +... —2u+1)
(i) Arc colorings
1
asz = 0
ag — (
a9 = <
a7 = (
ag = (
u? +1
a1 = \ —yt — 242
—ub —3ut — 242 +1
u® + 4ub + 4u?

—ul7 — 8u® — 25u13 — 36wt — 19u° + 4u” + 2u® — 4ud —u
w' + 907 + 3205 + 5503 + 430t + 90 + 4ud +ud +u

w1300+ —u2 41 )

aq =
ag =
as = \ —u?® — 1202 + ... — 205 + 3u?

w9 +5u8 +8uf +3ut —u2+1
aip = —ul0 — 448 — 5ub — 2ut — 2

(ii) Obstruction class = —1

(iii) Cusp Shapes

= 4u3! — 4030 + 6002 — 52128 4392127 — 292120 + 1448125 — 908u?* 4 3260u?® — 1640122 +
4412u%" — 1548u2° 4 3076w — 24848 + 220u'7 + 888u'® — 92445 + 580u'* + 60u'® —
204u'2 4+ 616wt — 212610 + 1444° + 7268 — 10847 4+ 60u’ — 12u® — 8u? 4+ 20u® — 8u? 4+ 8u—6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Ca, Cg W o 2ut1
3 u3? — 7wt - — 104w + 17
C4,Cs5,Cy W —2u+1
cr W32 3 b 20ud + 1
cs W32 03 e 20ud + 1
10 w2+ 4 4+ 104w + 17




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C2,C4 Y32 42003 4+ 4y 41
C5,C6, C9
€3, €10 y32 + 9y 4 -+ + 3056y + 289
C7,C8 vyt o+ 56y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y=1CS)

Cusp shape

= —0.209460 + 1.0513901

—4.41658 + 4.256291

—3.47389 — 4.097771

—0.209460 — 1.0513901

—4.41658 — 4.256291

—3.47389 + 4.097771

0.089089 + 1.1086401

1.25663 — 1.658461

0.43981 + 4.420011

= 0.089089 — 1.1086401

1.25663 + 1.65846.1

0.43981 — 4.420011

0.714631 + 0.2810381

—5.41367 — 7.912741

—4.55825 + 6.960021

= 0.714631 — 0.2810381

—5.41367 + 7.912741

—4.55825 — 6.960021

0.339557 + 0.6647331

—3.94538 + 4.070511

—1.91410 — 1.896511

0.339557 — 0.6647331

—3.94538 — 4.070511

—1.91410 + 1.896511

—0.672202 + 0.2822701

4.495501

0. —7.211721

—0.672202 — 0.2822707

— 4.495501

0.+ 7.211721

= —0.694439 + 0.1428471

—7.11727 — 0.782561

—7.62681 — 0.592591

—0.694439 — 0.1428471

—7.11727 + 0.782561

—7.62681 + 0.592591

0.515560 + 0.3706101

—1.25663 — 1.658461

—0.43981 + 4.420011

0.515560 — 0.3706101

—1.25663 + 1.658461

—0.43981 — 4.420011

0.598306 + 0.2096451

—1.19944 — 1.015941

—3.95412 + 1.455311

0.598306 — 0.2096451

—1.19944 4+ 1.015941

—3.95412 — 1.455311

—0.265495 + 1.3413801

—2.44890 + 2.683011

—2.52130 — 2.365941

= —0.265495 — 1.3413801

—2.44890 — 2.683011

—2.52130 + 2.365941

—0.323417 4 0.5082941

1.19944 — 1.015941

3.95412 + 1.455311

—0.323417 — 0.5082941

1.19944 + 1.015941

3.95412 — 1.455311

0.235723 + 1.3922801

3.94538 — 4.070511

1.91410 + 1.896511

gl ||| |||
I

0.235723 — 1.3922801

3.94538 +4.070511

1.91410 — 1.896511

u = —0.14428 + 1.417971

7.11727 4- 0.782561

7.62681 4 0.592591

u = —0.14428 — 1.417971

7.11727 — 0.782561

7.62681 — 0.592591

uw=0.19271 4 1.416481

4.41658 — 4.256291

3.47389 +4.097771

w=0.19271 — 1.416481

4.41658 4 4.256291

3.47389 — 4.097771

u=0.10594 + 1.427561

2.44890 + 2.683011

2.52130 — 2.365941

u=0.10594 — 1.427561

2.44890 — 2.683011

2.52130 + 2.365941

u = —0.26371 + 1.412371

5.41367 4 7.912741

4.55825 — 6.960021

u = —0.26371 — 1.412371

5.41367 — 7.912741

4.55825 + 6.960021




Solutions to I} V—1(vol+ v/—1CS) Cusp shape

u= 0.28148 + 1.414811 — 11.53571 0.+ 7.269821

u= 0.28148 —1.4148171 11.53571 0. — 7.269821




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1, Ca, C Wt 4 2u 1

€3 u? — 7B 4 — 104w + 17
C4,C5, C9 T N |

cr W32 3t 20Ul 1

cs W32 3t o0l 1

c10 w3+ Tut o+ 104u 4 17




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C2,C4 y32+29y31+~--+4y2+1
C5,C6, Co
€3, €10 y22 +9y3 4 - 4+ 3056y + 289
cr,cs Y2 4+ 56y + 1




